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Answer ALL the following questions. f_)‘t‘J \)\-\D,O%'“D =

1- Convert the following (use chemical equations to describe your answer) (25 Marks,> marks each)

a- From Benzene to Picric acid
b- From Phenol to 2,4,6-trinitrotoluene
¢- From Toluene to n-propylbenzene

. d- From Aniline to mefa-bromoaniline

e- From Benzoic acid to para-methyl acetophenone

2. Write down about (use chemical equations to describe your answer) (25 Marks, 5 marks each)
a- Kolbe-schmidt reaction

b- Replacement of sulphonic group of benzenesulphonlc acid by other groups (give three examples)
¢- Acylation mechanism of nitrobenzene
d- Preparation of Diphenyl thiourea from aniline

e- Mechanism of para-hydroxyazobenzene formation

3- Explain briefly the following: ' (25 Marks)
a- Differentiation between 1°,2° and 3° aromatic amines (5 Marks)
b- The aromaticity of:- ' (15 Marks, 3 marks each)
i. Furan

ii. Cyclopentadiene anion
iii. Cyclopropyl cation
iv. Benzene
v. Anthracene
¢- The use of phenylmagnesium bromide to prepare aromatic alcohols (5 Marks)
(give three different examples) |

4- Discuss the following: (25 Marks)
a- The mechanism of chlorination of phenol, showing why the (5 Marks)
hydroxyl group is ortho- and para- directing group.
b- The synthetic route of the following: (20 Marks, S marks each)

(start from Benzene or Toluene)

i. Halazone

ii. Acetanilide

iii. ortho-nitroaniline

iv. meta-chlorobenzenoic acid
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BOTANY DEPARTMENT - TANTA UNIVERSITY - FACULTY OF SCIENCE

Final Examination / Second Year All Levels

£ - ;éCourse Title: General Genetics ' Course Code: BO2105
30 Dec. 2017 Term: First | Total assessment marks: 150 | Time Allowed: 2 hours

ANSWER THE FOLLOWING QUESTIONS

1. Discuss the role of genes present on somatic chromosomes in sex determination.

(20 Marks)

2. How cumulative genes affect the degree of character expression. Explain with

an example. (20 Marks)

3. Multiple alleles pattern of inheritance is examplified in plants ... explain this

statement. (20 Marks)

4. There are two types of chromosomal systems in sex determination in different
organisms... discuss. (20 Marks)

5. Characters of sex-linked genes differ from characters carried on somatic

chromosomes. Explain this statement. (20 Marks)
6. Write on the following: (50 Marks)

a. Two changes in chromosome numbers. (10 Marks)

b. Pseudoalleles. o (10 Marks)

¢. Significance of Meiosis. | o (10 Marks)

d. Mitotic cell cycle. : (10 Marks)

e. Types of chromatin materials. ' 10 Marks
Examiners:
With our best wishes

Prof. Dr. Adel Elshanshory Prof. Dr. Reda Gaafar
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FINAL EXAM OF MAJOR ZOOLOGY, Chemistry / Zoélogy, Biophysics,
BIOCHEMISTRY, CHEM/BIOCHEMISTRY Divisions

01 _a: What is d:fferent between fur onlvo the followm

1. Apoptosis and necrosis. 2. Atrophy and hypertrophy.
3. Histology and histopathology. 4, Hyperplasia and metaplasia.

4, Contrast and resolution.

Q1-b: Write on two only of the following: 15 matks

1. Causes of cell injury. 2. Importance's of apoptosis.

3. Biochemical and physiological responses to cell signaling.
Q1-C: Identifid only four of the foliowing:&;fi’f?_ 1arks

1. Infarction 2. Depth of Field 3. Cell

4. Centrifugation 5. Oedema 4. Postmortem change

Q1-D: With full labeled drawing illustrate one only of the following:  10:marks

1) The morphelogy of apoptosis and necrosis.

2) Cell fractionation to separate the miajor organelies of the cells.

?Second Quest:cm : g
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n QZ-A " Explain the following briefly using illustrations when necessary (20 Marks):
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I. Explain the differences between studying genetics in Biochemistry, Biophysics and Zoo

of your specialties. -

2. Explain the role of the three types of RNA during the formation of a protein.

TITLE: . . : .
COURSE Cell Biology and Genetics COUR;E (2:?011)]3 j
TERM: DATE OF EXAM: | ASSESSMENT TIME ALLOWED: |

1¥ SEMESTER JAN, 2018 MARKS: 150 2 HOURS
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3. What happens when the ability to repair damage caused by UV light is deficient in a family.

4. Lxplain briefly the early mechanisms by which how cells decide to start BER.
Q2-B. True (\) or False {X) (if false, write the correct answer) (20 marks):

1. DNA exists only in nuclei, while RNA exists only in cytoplasm.
. All DNA in cukaryotic cells comes from both parental and maternal origins.
. The origin of replication exists at the beginning of each chromosome.
Splicing process in DNA repair starts due to activation by the UV light.

The mechanism of P-factor depends on hair pin.

Prokaryotic transcripts must not be processed to produce mature mRNAs.

. The leading strand reading from 5’ to 3 is the template strand.

2
3
4
5
6. Initiation of transcription in eukaryotes involves recognition of promoter by transcription factors. :
7
8
9

Linker histone consists of about 146 bp of DNA wrapped in 1.67 left-handed superhelical turns

around the histone octamer.

i

10. The genetic code is redundant: this means it has multiple codes amounting to the same arnino acid.
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| : . . C SE CODE;
COURSE TIILE Cell Biology and Genetics OURZO gﬁ)l E ;
TERM: DATE OF EXAM: | ASSESSMENT TIME ALLOWED: ?
1¥ SEMESTER JAN, 2018 MARKS: 150 2 HOURS ;
bt {
Ql-a: :
1. Apoptosis and necrosis, 2. Atrophy and hypertrophy
3. Histology and histopathology. 4. Hyperplasia and metaplasia.

4, Contrast and resolution.

O1-b: Write on two only of the following: 15 marks

1. Causes of cell injury. 2. Importance's of apoptosis. %EQ - l
3. Biochemical and physiological responses to cell signaling. % E‘E |
Q1-C: Identifid only four of the followmg 20/ marks E E -
1. Infarction 2. Depth of Field 3. Cell @ Yo
4. Centrifugation 5. Oedema 4. Postmortem change gg%': '
Q1-D: With full labeled drawing illustrate one only of the following: 10:1marks ? ? i;.j.
1) The morphology of apoptosis and necrosis. % e

2) Cell fractionation to separate the major orga.nelles of the cells,
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02 A Explam the followmg bru.ﬂv using Hiustrations when necessarv {20 Marks):

1. Explain the differences between studying genetics in Biochemistry, Biophysics and Zoo ogy branch
of your specialties. -

2. Explain the role of the three types of RNA during the formation of a protein.

3. What happens when the ability to repair damage caused by UV light is deficient in a fam]ly

4. Explain briefly the early mechanisms by which how cells decide to start BER. ; ;
02-B. True (V) or False (X) (if false, write the correct answer) (20 marks): |

DNA exists only in nuclei, while RNA exists only in cytoplasm.
All DNA in eukaryotic cells comes from both parental and maternal origins.
. The origin of replication exists at the beginning of each chromosome.,

Splicing process in DNA repair starts due to activation by the UV light.

1

2

3

4

5. The mechanism of P-factor depends on hair pin.

6. Initiation of transcription in eukaryotes involves recognition of promoter by transcription factors.
7. Prokaryotic transcripts must not be processed to produce mature mRNAs.

8. The leading strand reading from 5° to 3’ is the template strand.

9

. Linker histone consists of about 146 bp of DNA wrapped in 1.67 left- handed superhelical turns
around the histone octamer.

10. The genetic code is redundant: this means it has multiple codes amounting to the same athino acid. ‘t
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TITLE: . . C :
COURSE E Cell Biology and Genetics OUI{;(E) g?()[l)E
TERM: DATE OF EXAM: | ASSESSMENT | TIME ALLOWED:
1* SEMESTER JAN, 2018 MARKS: 150 2 HOURS

1. Apoptosis and necrosis. 2. Atrophy and hypertrophy.

3. Histology and histopathology. 4. Hyperplasia and metaplasia.

4. Contrast and resolution.

QL-b: Write on two only of the following: 15 maks

1. Causes of cell injury. 2, Importance's of apoptosis.

3. Biochemical and physiological responses to cell signaling.

drks

S W

Q1-C: Identifid only four of the following:

1. Infarction 2. Depth of Freld 3. Cell
4. Centrifugation 5. Oedema

Q1-D: With full labeled drawing illustrate one only of the following:

1) The morphology of apoptosis and necrosis.

2} Cell fractionation to separate the major organelles of the cells.

‘Second Questlon
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4. Postmortem change

10 marks

02-A: Explain the foIlowmg br ﬂy usmglllustratmns when necessary (20 Marks)
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1. Explain the differences between studying genetics in Biochemistry, Biophysics and Zoo
of your specialties. - _

2. Explain the role of the three types of RNA during the formation of a protein

3.

What happens when the ability to repair damage caused by UV light is deficient in a family |
4. Explain briefly the early mechanisms by which how cells decide to start BER |

Q2-B. True (\) or False (X) (if false, write the correct answer)} (20 marks):

logy branch

i

1. DNA exists only in nuclei, while RNA exists only in cytoplasm.

2. Al DNA in eukaryotic cells comes from both parental and maternal origins
3. 'The origin of replication exists at the beginning of each chromosome

Splicing process in DNA repair starts due to activation by the UV light.
. The mechanism of P-factor depends on hair pin.

4
5
6
7. Prokaryotic transcripts must not be processed to produce mature mRNAs
8. The leading strand reading from 5° to 3’ is the template strand.

9.

around the histone octamer.

Linker histone consists of about 146 bp of DNA wrapped in 1.67 lefi- handed superhelical turns .

Initiation of transcription in eukaryotes involves recognition of promoter by transcription factors

10. The genetic code is redundant: this means it has multiple codes amounting to the same arpino acid
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COURSE TITLE: Cell Biology and Genetics COURE(E) g?o?E:
TERM: DATE OF EXAM: | ASSESSMENT TIME ALLOWED:
1¥ SEMESTER JAN, 2018 MARKS: 150 2 HOURS
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Ql-a: Whatis_different between four only of the following: #30:marks
I. Apoptosis and necrosis. 2. Atrophy and hypertrophy.
3. Histology and histopathology. 4. Hyperplasia and metaplasia.
4. Contrast and resolution.
Q1l-b: Write on two only of the following: 15 marks
1. Causes of cell injury. 2. Importance's of apoptosis.
3. Biochemical and physiological responses to cell signaling.
Q1-C: Identifid onlv four of the followmg“ZQiﬁ’?ﬁrks . ?
1. Infarction 2. Depth of Field 3. Cell g B
4. Centrifugation 5. Oedema 4. Postmortem change !%‘%{% z ‘i,‘
Q1-D: With full [abeled drawing illustrate one only of the following: ll}marks éEES o

1) The morphelogy of apoptosis and necrosis.

2) Cell fractionation to separate the major organelles of the cells.

Second Question:-

e LR T
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Q2-A: Explain the following briefly using illustrations when necessary (20 Marks):

1. Explain the differences between studying genetics in Biochemistry, Biophysics and Zoology branch
of your specialties. -

2. Explain the role of the three types of RNA during the formation of a protein.
3. What happens when the ability to repair damage caused by UV light is deficient in a family. _
4. Explain briefly the early mechanisms by which how cells decide to start BER. |
02-B. True (¥) or False (X}__(if false, write the correct answer) (20 marks): |

1. DNA exists only in nuclei, while RNA exists only in cytoplasm.

. All DNA in eukaryotic cells comes from both parental and maternal origins.

. The origin of replication exists at the beginning of each chromosome.
Splicing process in DNA repair starts due to activation by the UV light.

The mechanism of P-factor depends on hair pin.

2

3

4

5

6. Initiation of transcription in eukaryotes involves recognition of promoter by transcription factors.
7. Prokaryotic transcripts must not be processed to produce mature mRNAs.

8. The leading strand reading from 5’ to 3’ is the template strand.

9

. Linker histone consists of about 146 bp of DNA wrapped in 1.67 left-handed superhelical turns |
around the histone octamer.

10. The genetic code is redundant: this means it has multiple codes amounting to the same atnino acid.
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COURSE TITLE: . . :
Cell Biology and Genetics COUR;g SIOO?E
TERM: DATE OF EXAM: | ASSESSMENT TIME ALLOWED:
1* SEMESTER JAN, 2018 MARKS: 150 2 HOURS

Q1- -a: What 18 dlfferent between four only of the followmg =.»-.30:=mark§

2 52

1. Apoptosis and necrosis. 2. Atrophy and hypertrophy.
3. Histology and histopathology. 4. Hyperplasia and metaplasia.

4. Contrast and resolution.

Ql-b: Write on two only of the following: 15 marks
1. Causes of cell injury. 2. Importance's of apoptosis.
3. Biochemical and physiological responses to cell signaling.

Q1-C: Identifid only four of the following: 720 riarks

1. Infarction 2. Depth of Field 3. Cell - Gnmey
o Tet
4. Centrifugation 5. Oedema 4. Postmortem change ' 4 %‘EV g

Q1-D: With full labeled drawing illustrate one only of the following: 10:marks

1) The morphology of apoptosis and necrosis.

2) Cell fractionation to separate the miajor organelles of the cells.

?'S'eéén'a Quaestioh: - , 5N P (75:ma f
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Q2 A: Explain the following briefly using 1llustrat10ns when necessary (20 Marks):

. Explain the differences between studying genetics in Biochemistry, Biophysics and Zoology branch
of your specialties. -

2. Explain the role of the three types of RNA during the formation of a protein.

3. What happens when the ability to repair damage caused by UV light is deficient in a fa:mly
4. Explain briefly the early mechanisms by which how cells decide to start BER. '
02-B. True (\) or False (X) __(if false, write the correct answer) (20 marks):

1. DNA exists only in nuclei, while RNA exists only in cytoplasm.

2. Al DNA in eukaryotic cells comes from both parental and maternal origins.

3. The origin of replication exists at the beginning of each chromosome.

4. Splicing process in DNA repair starts due to activation by the UV light. :

3. The mechanism of P-factor depends on hair pin. '

6. Initiation of transcription in eukaryotes involves recognition of promoter by transcription factors.
7. Prokaryotic transcripts must not be processed to produce matyre mRNAs.

8
9

. The leading strand reading from 5’ to 3’ is the template strand.

Linker histone consists of about 146 bp of DNA wrapped in 1.67 left-handed superhelical turns
around the histone octamer.

10. The genetic code is redundant: this means it has multiple codes amounting to the same arhino acid.
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TANTA UNIVERSITY
FACULTY OF SCIENC
CHEMISTRY DEPARTMENT

FINAL EXAM FOR 2™ LEVEL STUDENTS (ALL SECTIONS)

e CHEMISTRY OF THE MAIN GROUP
COURSE TITLE ELEMENTS TIME ALLOWED 2 H
CODE CH2107
DATE: JAN 3, 2017 TERM: FIRST :TOTAL ASSESSMENT MARKS ‘ 100
[I]. Give reasons for the following, (20 Marks)

1- Water has abnormal low volatility and the stability of hydrides decreases down group VI
2- Silanes are strong reducing agents, but alkanes are chemically unreactive.

3- Liand group 11 metals form nitrides on heating in air

4- PClsis known but PH; is not,

(IT). Draw and explain the structure of the following: (20 Marks)
1- Phosphorus trioxide and pentaoxide

2- Orthoborates and metaborates

3- Beryllium halides and hydrides

4- Diborane

5- Silicones

(1I1}. Rank "FOUR ONLY" of the following series from high to low according to the given

criteria and explain reasons: (20 Marks)
1- NaCl, MgCl;, AICI, (Polarization and polarizability)
2- NH,, PHj, AsH; (Donor properties and stability)
3- HF, HCl, HBr, HI (Acidity Strength)
- 4- BF;, BCli;, BBr; (Lewis acid strength)
5- Li, K,Cs (Reaction with water)
[IV]. Compare between the following: (20 Marks)

1- Trimethylamine and trisilyamine in structure and donor properties.
2- Group I and 1I elements in softness.

3- Diamond and Graphite.

4~ 8S0O,, SO; and Se0;

[V]. Choose the correct answer "FIFTEEN ONLY " with REASON; (20 Marks)
1- 1n which of the following compounds, nitrogen exhibits lowest oxidation state?

a- H N03 b- N2H4 C-Ng d- NHQOH e~ NH3
2- Which of the following contains P - O - P bond?

a- Tripolyphosphoric acid ¢- Hypophosphorous acid

b- Pyrophosphoric acid d-aandb
3- Which of the following compound is ionic?

a- PCl;s b-CClL, c- PbF, d- PbBry
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N TANTAUNIVERSITY
A FACULTY OF SCIENCE
: DEPARTMENT OF CHEMISTRY
- EXAMINATION FOR SECOND YEAR STUDENTS
~==={"COURSE TITLE: PRINCIPLES OF ANALYTICAL CHEMISTRY COURSE CODE:CH2105
DATE: | 6-1:2018 TERM:FIRSTTERM | TOTAL ASSESSMENT MARKS: 100 | TIME ALLOWED. 3 BaiRs

Question (I): Sta_te true (V) or false (x) and give the reasons for your answer:

(45 Marks)

1) The acidic medium is the best one for the titration of sodium oxalate by potassium
permanganate,

2} The titration of 0.IN sulfurous acid by sodium hydroxide is stepwise.(K;.1.2x1 07, K,-5.6x1 0

3) EDTA can be called chelating agent.

4) The normal hydrogen electrode contains titanium sheet.

5) SCN ions can be determined satisfactory using Mohr’s method.

«6) The titration of 1 N carbonic acid can be titrated. (K;=4.2x107, K,=4.8x10") -

7) The pH value in the titration of weak acid against weak base equals 1/2 pK,+1/2 pK.+1/2 log '
Caar

8) It is possible in Volhard’s method to complete titraﬁon in presence of AgCl.

9) For writing the half cell equation, the reduced form can be written in the left hand.

10) Br’ and I"ions can be determined by Volhard’s method without any titration error.

11) HCrOy4 or Cr,O; " ions can be used to detect the end point for the precipitation titration of CI°

tons using Mohr’s method.

12) Nernest equation can be applied for the half cell reaction, if the solutions concentration equals
IN.

13) Each of Fe' and Ca®" can be determined using EDTA titration.

14) Lewis acid can be defined as hydrogen acceptor,

15) Heating is necessary for A’*-EDTA titration.

AR A K

oo T
Question (II): Choose the correct answer from each of the following and give the ,?? ?‘Zg L

R
reasons: (15 Marks) &5 T

1) Which of these metal ions can be masked using CN ions?
a) Mg* b) Zn** N

2) Distinction between a weak acid or strong acid can be made through............
a) Phenolphthalein indicators b) universal indicator ¢) methyl orange indicator

3) For Mercurimetric determination of cyanide,
a) Fe’* b) Hg™ ¢)Hg" was used as indicator

4) Hydrogen acts as a reducing agent,...................coveeivi
a} by taking oxygen b) by giving electrons  ¢)by taking hydrogen  d)Both A and B

Go to the next page
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TANTA UNIVERSITY
FACULTY OF SCIENCE
DEPARTMENT OF CHEMISTRY

Final Examination of for second year students (Double major)

— 2QURSE TITLE  Organic Chemistry 2 COURSE CODE: CH2111
DATE: | JAN. 2018 TERM: FIRST | TOTAL ASSESSMENT MARKS: 100 TIME ALLOWED: 2 HOURS
Answer the following questions: (Each question 25 marks)

1] Correct by equations each of the following:
1) Ozonolysis followed by hydrolysis of isobutene gives acetaldehyde and formaldehyde.

i) Alkaline hydrolysis of 1,1-dichlorobutane and /or 2,2~ dichlorobutane forms the same
product.

iii) Treatment of a mixture of benzaldehyde and formaldehyde with NaOH gives sodium
benzoate and methyl alcohol.

iv)Acetic anhydride formation is the reaction of silver acetate with ethylchloride.

v) Secondary alcohol is formed from the reaction of Grignard reagent with formaldehyde.

2] A) Carry out the following conversions:
i) Acetylene into 5-methyl-2-hexyne. ii) Acetone into Acetic acid.
iil) Ethylene into tartaric acid.

B) Tow hydrocarbons of the M.F. C¢H,; are treated separately with acidify KMnQ,, in one
case, the products are butanone and acetic acid; in the other case, the products are 3-
methylbutanoic acid, carbon dioxide and water. Write their structures by using equations.

31 A) Explain by equations, what is the action of:
a- Aqueous KOH b-Ammonia
On each of the following compounds
1) B~ and y —Chlorobutyric acid ii) Acetaldehyde
iii) Ethylchloride iv) Ethylacetate
| Please turn over
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